D1 fferential E{wﬁmns

A d\‘\g‘gemm—%{o\\ Qﬁucd-(of\ <
AN e«iuo\%wc\ [ c\\ro\\l“mj an
@r\c\-ion omok s

Mos+ any

unknown
derivative (<) -

g\\-\—uo&ior\ Can [oe

[D\’\ 3§\ s\
C S‘Qsjvem ot X

fee weented oYy o

N Flerential e.o[,uc\-\-ionQS\ , Mayloe
US‘Ir\j Mol Hhen 6 ne \rar‘ic\\o(e, .



TE wour LincHon :
Aelined 00 &N Tatervel
Coybl ), an aihial cnkition
.'\g an gquatio N ol +he form
[Q(o\\:m) for come (onstant Yo
A Linol  Condhition ¢ o

e Lorm m Cor

ComMe (onstent




E\@\MF el (Vo fon S\ C <)

06 - ~@(Géb\~@3
O*“c (\/"

(o NSran TS

@(JD\ - JDQMPQFOd'u e ol an o\agec—\

T'Z o\m\a'le,r\{’ —kgmf)er\o\‘l\ﬁé

(ossumedh (o askant )

[/< Z CO‘\S'WUH QC Era'\DOl“\iDﬂQ\H’J
((extpert e +alloy dc%errf\'mecb

edtwee n dve rate o€ Crhanye
OC +~o Soﬂ:mce —\Qmpcva\—vrc
ofl e ployect and +he

A LLerence ok 4\ JrU“P ,
o\l dhe enrironment



por  equation be@Me

A0 - -
dbv‘(@a?ﬂ-

Divide ot sidec oy
[ B4 -



e 3@*

o)1 ¢t

f\Jrejro\JrL botn Sldes leae

(LSPQC% to b -

H(&-FD) %
_(7

Ley U—@ AU = @



—

(he equation loc.come <
Lus -E vC
g 5 Av = T +C
Totegeate |
—t
\n(\\)\\: —*Q‘JrC
Uz O(EN-F, $0

\n (led)-32 =5+

E_)(Por\@ n-\-'lod'e ot Sidec w\‘\’\'\ e .



g/‘(l(ﬂ’d'?g\\ '—gx(,

| o221 = ¢

T e koo OLENZTFD, then

LJe OQFOF ~ b o lute NEATLES 10 iy
£ +¢C

Oy~ = €

- —

~Lac
O (x)= € 1+




Suppose O (0) = a6
“hen (t: D\
<= 26,0



L) B P H—o\\’s Rule

L)\(\c\% 1S the most 0\0003\'\3 l'lM;{'Z

L) HOPHA\\S ruke telces cave oC
e case .



L Wopikals Rile (a & 2 )

Let £la be differenticde N

QN 0 pen inderal  containing X=A-

@l YFO 0N D (rerval

Suppose
a)

(except mManbe ok =

" hen ‘l(; erther Wi (—\(\L\f_ i ﬁ&%:@

O NE LN
- ol = im CR=tos and Im 3=
VDI /
o2

Fren | linn £ = i S;_(é«)

—

Y= R (S(X\ NGLIEN S)(Y\)



L\)\-\US <hould HhiE e Yrue”

Fale Q@asor\\{@'. )\

o PO lim B0 e
N A NOA GO (- o

_ im S(*B X—
RS- X_,o\ 604)
\
~ [m -C(‘q lim D
RS N - A \/\70\ —\7—20\X
— , —/
. S: (c\\ %I(a\
~ e
e [} Q((\d ° T

DA ﬂ_'gq _/



Also works Sor li nite to Teoo

Lohen fo USe W/

— 1 \
1 Adeterminate Forms

@)
4
%




Crerple 3 (3D

Vi Dy 2 bX " 34
X2 ,—5(%@4:;0

U<e l\Hof‘lJrQ\\s rule | olenote

o U
Use ot — (C\\L\JG\BS NOY¢

Llhen N use NS rule \B

PN )
Dy 2 bx =30 (A

\‘lm — lmMm — -

> —g (N +30 (| =100

- 53 —_ _B
_,go g



lim [ e S

N Tes

Choose one Lectoc +o move fo e

Oke,r\onn‘\l'\ﬁ‘\' o( -

|
“& _\/ - —
e T LN ™
(—\Y’x
\)(Q



- sy
NS oo 65%‘_56( }S

| A

I

N Q\TX

\.lm

—






